A™HAM EP, DS

3/MIE olo|X]|

Mo
o

K1751

=25

|
=
=
B
of
5
L

— &
S : Ho K L
ol oF 5] ~ oF == 17T
w0 ||_HH [N ol |
O® o W L 1 ]
g 7l N K oo < ~ H 3
= 50 b < ")
T TH = n o ..mV K H
38 T,m i o fir A Tl S = £7
@ O w1 <l ] Ho 6 ~
ot Han B o 0 vl
o B N o . oju o o] H] ! h-m%v
R L TR ; ] <
f5.ei3d ¢ s ) =
o g 0 KA = T 1 ©
. I%Beawd s 3a &
N = ol __- S < _._w._o = S3K0 or —
+ %._ i % s N < ._._| S ____mv 0t o.__ T
8 S 00 <l = ill — T ] &
K=o WOy IS K4 o
O = «l o= = o " il — %___ 0% B T 5% B ---n_l-l T
I oGEZmgmy mE omIwo 5o
= —n — ~N
5 ANIER U My XX Hg .
3 gqFHI4 g 271 oK of
i Amooml X @k omom R
mok BT Te e wRo o ak
b HIZmRowa % oAy @z #iTu
LU TR RaSoHSY BT yad  mp SN0
gl mw HRSTomoadd dor m™% FEa o, RmW
Rin HT R ;<% oM oluibX KOMIR Koo M 4w

ks

o

T

D
03
3

or

BN

i
@%ﬁ
|
g
©

v HiT

1/2

www.kipp.com - info@kipp.com

HE| S ALHB UYL £2, DS

© HEINRICH KIPP WERK GmbH & Co. KG



o4 = 2Hi AE X

HE| ST A|ABZ IHA £, DS

E=S oY%

FEHS AAER Zof EQ] ZEefEIQ] L B HL1L2L3B1 HI H2 D D1 D3 BN=£=% LiH|
= gfef QFLEAL  QFLEAL

K1751.0504401 50 A oiZgf 44 50 25 - 24 18 30 12,5 - M5 M6 M10x30 5
K1751.0504402 50 B  AMalolM 445025 - 24 18 30 12,5 - M5 M6 M10x30 5
K1751.0504423 50 C MX|E 445025 2 2418 30 125 2 M5 M6 M10x30 5
K1751.0504453 50 C MX|El 445025 2 24 18 30 125 5 M5 M6 M10x30 5

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



